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(OxO]-11) ——2Arctan/1 X Arc s : o o
f(x)= Arcsmx——+2Arcta g —
1+x
f(x)=0 o ol

J-L] e sasuays o

1-x
G52
f(x)= = +2 VL*X

_\/1—X2 1+1_7X ’
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, 1
(1+x)(2\/ﬁ’
-1 1t X
J1-x2 2
1+x
= 1 - + —2 2 (1+X)
V1-X 2 - X
X @, )
_ 1 1
1= 2 1-x
1+X
A+, )
1 1
\/1 X \/(1+X)2 (1_X)
1+
_ 1 1 -0
V- J1-x2
(OxO]-11) f'()=0 : o
At f o e
T
f(0)=0-—+2—=0 : Ll
(0) > t2y oy
(OxO]-,9) fx)=0 o
Vg 1-x .
OxO|-1, ——2Arctan/— =Arc sirx : A=
( ] ][) 2 1+ X o

(OxO]a, +«|)

tdule Gliias ala g, f el IR

Ja+oo[ e gilaia g, f

5 Jatoo[ e s g g, f ¥
(OxOJa,+e])  f'(X)=g'(X)

f(a=g(a) *

f(x)29(x) : s
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